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General Marking Guidance

All candidates must receive the same treatment. Examiners must mark the
first candidate in exactly the same way as they mark the last.

Mark schemes should be applied positively. Candidates must be rewarded
for what they have shown they can do rather than penalised for omissions.
Examiners should mark according to the mark scheme not according to
their perception of where the grade boundaries may lie.

There is no ceiling on achievement. All marks on the mark scheme should
be used appropriately.

All the marks on the mark scheme are designed to be awarded. Examiners
should always award full marks if deserved, i.e. if the answer matches the
mark scheme.

Examiners should also be prepared to award zero marks if the candidate’s
response is not worthy of credit according to the mark scheme.

Where some judgement is required, mark schemes will provide the
principles by which marks will be awarded and exemplification may be
limited.

Crossed out work should be marked UNLESS the candidate has replaced it
with an alternative response.

Types of mark
o M marks: method marks
o A marks: accuracy marks
o B marks: unconditional accuracy marks (independent of M marks)

Abbreviations

cao - correct answer only

ft - follow through

isw - ignore subsequent working

SC - special case

oe - or equivalent (and appropriate)
dep - dependent

indep - independent

c O O 0O O O o o

eeoo - each error or omission



No working

If no working is shown then correct answers normally score full marks

If no working is shown then incorrect (even though nearly correct)
answers score no marks.

With working

If there is a wrong answer indicated on the answer line always check the
working in the body of the script (and on any diagrams), and award any
marks appropriate from the mark scheme.

If it is clear from the working that the “correct” answer has been obtained
from incorrect working, award 0 marks.

If a candidate misreads a number from the question. Eg. Uses 252 instead
of 255; method marks may be awarded provided the question has not
been simplified. Examiners should send any instance of a suspected
misread to review.

If there is a choice of methods mark the one that leads to the answer
onthe answer line. If there is no answer given then mark the method

that gives the lowest mark and award this mark.
If there is no answer on the answer line then check the working for an

obvious answer.

Ignoring subsequent work

It is appropriate to ignore subsequent work when the additional work
does not change the answer in a way that is inappropriate for the
question: eg. Incorrect cancelling of a fraction that would otherwise be
correct.

It is not appropriate to ignore subsequent work when the additional work
essentially makes the answer incorrect eg algebra.

Transcription errors occur when candidates present a correct answer in
working, and write it incorrectly on the answer line; mark the correct
answer.

Parts of questions

Unless allowed by the mark scheme, the marks allocated to one part of
the question CANNOT be awarded in another.



International GCSE Maths

Apart from questions 15, 20a, 22 (where the mark scheme states otherwise) the correct answer, unless clearly obtained from an incorrect

method, should be taken to imply a correct method.

Question Working Answer Mark Notes
1 (a) Twenty eight 1 B1  All must be in words — accept incorrect spelling
thousand one if meaning is clear. Sometimes ‘and’ may be
hundred (and) included in places it is not included here —
forty nine please allow this.
Allow words such as ‘fourty’ or ‘thorty’ or
“fourlity’ for forty and similar words for other
numbers
(b) Kenya 1 B1 accept incorrect spelling if meaning is clear.
Allow K or k or other shortened form of Kenya
(©) 80 1 B1 Eighty or tens or 8 tens or 8 x10s or similar.
(Not 8 tenths)
accept incorrect spelling if meaning is clear.
(d) 16 000 1 B1 accept ‘16 thousand’ or ‘sixteen thousand’

Total 4 marks




Question Working Answer Mark Notes

2 (a) 52 1 B1 Allow ‘fifty two’
(b) 1 full symbol and 1 B1  The half symbol can be made of 2 quarter
a half symbol symbols. The half symbol can be the top 2

parts, the bottom 2 parts, the two left parts etc

() 20 1 Bl Allow ‘twenty’

(d) 2 M1 for 56 : 48 or other correct ratio that is not in
simplest formeg 14 : 12 0r3.5: 3
or

for6:7org:1 or 0.85:10r0.86:1or
:1.160r1:1.17 oe

—

1
0
7
6

Total 5 marks




Question Working Answer Mark Notes
3 (a) 3 1 Bl 4 6 9 30
100 Hoo:3/100 e eg 20 200 700

(b) 90 1 B1  Allow 90%

(©) 0.204, 0.24, 0.4, 1 Bl oe eg0.204, 0.240, 0.400, 0.408, 0.480 (this
0.408, 0.48 includes extra zero’s after the correct decimal

which is acceptable)
(d) 1.63 1 Bl oe 1.63(000...)

Total 4 marks




Question Working Answer Mark Notes
4 3 B1 For at least one correct conversion eg
800 (m) = 0.8 (km) or
2 (km) =2000 (m) or
1.7 (km) = 1700 (m) or
6250 (m) = 6.25 (km)
800 + “2000” + “1700” + x = 6250 oe M1 For a correct equation in x or a correct
or calculation for x using their 2 converted values
“0.87+2+1.7+y=%6.25"oe (but not original values throughout...some
or conversion must have been done)
6250 — 800 — “2000” — “1700” oe
eg 800 + 2000 + 1700 = 4500, 6250 — “4500”
or
“6.257 —“0.8"-2—1.7 oe
eg ‘0.8 +2+1.7=45,6.25 - 4.5
Working not required, so correct answer 1750 Al An answer of 1.75 (or 1.75 km) or a choice of

scores full marks (unless from obvious
incorrect working)

answers with no units ie 1.75 and 1750 scores 2
marks only (BIM1)

1750 m with 1.75 km on the answer line scores
full marks

Total 3 marks




Question Working Answer Mark Notes
5 (1) a cross at the 1 B1 A cross or other indication eg an arrow or large
notch between /2 dot etc at the correct place.
and 1
(i1) a cross at 0 1 B1 A cross or other indication eg an arrow or large
dot etc at the correct place.
Total 2 marks
Question Working Answer Mark Notes
6 (a) A right-angled 1 B1 For a right angled triangle drawn.
triangle
(b) A rectangle with 2 B2 egarectangle with dimensions 2 cm by 10 cm
area 20 cm? or4 cmby 5 cm or 2.5 cm by 8 cm etc

(B1 for a rectangle without area 20 cm? or any
shape with area 20 cm?)

Total 3 marks




Question

Working

Answer

Mark

Notes

7

(2)

16 30

B1

oe allow 16.30 or 16,30 or 16:30
allow 16:30pm

(b)

1 hour 5 mins (allow 1.05 but not 105)
or 15+ 50 (= 65) min

for time from B to C

or

for 10 + 36 (= 46) oe

for time from C to P

Ml

CGB to C 2 _ “C tO P 2
eg 66659’ _ ‘64637
eg “1 hr 5 mins” — “46 mins”

M1ft

dep on M1 awarded and “65” greater than “46”

Working not required, so correct
answer scores full marks (unless from
obvious incorrect working)

19

Al

cao
NB: 19 from 1.05 - 0.86 or 105 — 86 scores 0
marks

Total 4 marks




Question Working Answer Mark Notes
8 (a) 32 1 Bl
i - 2 M1
(®)) eg 180 — 125 or 360=2x125 or
JBC = 55 (in working or on diagram) or
ACL =125 (in working or on diagram)
BCG =55
GCD =125
Working not required, so correct 55 Al
answer scores full marks (unless from
obvious incorrect working)
(i1) one correct 1 B1  Dep on M1 in (b)(i) for a correct reason
reason

angles on a straight line add to 180
angles on a straight line add to 180

corresponding angles are equal
allied angles

opposite angles
co-interior angles

angles around a point

angles around a point add to 360

(award mark for a correct reason so long as no
more than one incorrect reason also given)

Total 4 marks




Question Working Answer Mark Notes
9 48 =2 (= 24) or §x48 (=72) 4 M1 Method to find the cost of 1 kg of carrots or
2 3 kg of carrots
207 -3 x“24” (=135) or M1 dep on Ml
207 —“72” (=135) oe or Method to find the cost of the 5 kg of potatoes
“72” + 5p =207 or a correct equation for potatoes (eg p)
“1357 +5 M1 dep on M2
Method to find the cost of 1 kg of potatoes
Working not required, so correct 27 Al cao

answer scores full marks (unless from
obvious incorrect working)

If no method marks awarded
SCB2 for an answer 31.8

Total 4 marks




Question Working Answer Mark Notes
10 (a) 2 | M1 60+ 17 (=77)

or
(60 £ n) = 7 where n is any number
or
7x11-17

Working not required, so correct 11 Al

answer scores full marks (unless from

obvious incorrect working)

(b) [condone y=....or x=.....] x;7 2 B2 oc cg %(x+7)or0.2x+1.4

(B1 for x + 7+ 5 with no arrows)

Total 4 marks




Question Working Answer Mark Notes

11 (a)(1) 21.5-22.5 1 Bl
(i1) 31-32 1 B1
(b) eg (31 <x<32)x10 2 MI1ft Students may use any valid method with
or examples shown on left — they may split the
(6=y<7)x50 amount up into parts as well
or
(12<z<13) %25 Readings from lines drawn on graphs may not
or be accurate
500 but
(answer to (a)(i)) 35 0¢ if no lines drawn then their value must be
sensible.

Working not required, so correct answer 300 - 325 Al  An answer in the range 300 — 325

scores full marks (unless from obvious
incorrect working)

Total 4 marks




Question Working Answer Mark Notes
2 () 43 1 | Bl
(®) 2(4p + 5) 1 Bl
(©) egy+f= ch or Y_ eh f 2 M1 an equation that is one step from the answer
h h h
Al . .
e=yzf oe eg e=%+% oe must see e = .... in working if

not on answer line
SCBI for % or e= y;lf ore=y+tf+h

(d) 8,9,10 2 B2 (Bl for two correct values with none incorrect

or
three correct values and one incorrect value
or

two correct values and one incorrect value)

Total 6 marks




Question Working Answer | Mark Notes
13 eg 0.1 x 150 (=15) 4 M1 M2 for
1800 + 360 (= 2160) oe eg 135g — 1800 = 360 M1  “15” must come from | 0.9 x 150 (= 135)
or correct working
150 — “15” (= 135)
“2160” = (150 - “15”) or M1
“2160” +~ “135”
Working not required, so correct answer scores 16 Al
full marks (unless from obvious incorrect
working)
Total 4 marks
Question Working Answer Mark Notes
14 2 M1 For 35.74 or 3.80788.... or for
the correct answer but rounded or truncated to
3, 4 or 5 significant figures (9.38, 9.39, 9.385,
9.386, 9.3857, 9.3858)
Working not required, so correct 9.38578(...) Al  Minimum 9.38578
answer scores full marks (unless
from obvious incorrect working)
Total 2 marks




Question | Working Answer | Mark Notes
15 SMALL 3 M1 A start to comparing costs | M2 for a fully correct
1.80 180 by finding cost per gram method to reach a
(£ perg) 1.50 (=0.012) or (p per g)ﬁ(_ 1.2) or for either size bag or for | conclusion eg
150 finding grams per pound 400 B
(g per £) m(z 83.(3...)) or (g per p) (or pence) for either size | 150 - 1.80(=4.8)
150 ’ bag or for finding the cost | o
m(: 0.83..) of a weight of fudge for 150
. i ; —x5(=1.875
either size bag. 400 ( )
LARGE or
5 500 S _
£ per g)——(=0.0125) or (p per g) —(=1.25 x150(=416.66...)
(£ perg) o ( ) or (pper g) - ) 0
400 400 or
(g per £)——(=80) or(gperp) —(=0.8) ,
5 500 % x400(=144)
COMPARISON OF SAME AMOUNTS EXAMPLE or
£1200 g = 12291 80(=14.4 e
eg cost 0 = x1.80(=14.4) or =
g &= 150 ( ) 100 g = £1.20
1200 400 g = £4.80
cost of 1200 g = x5(=15) oe
400 otc
M1 2 correct compatible
calculations
Working required Small A1l Correct conclusion with correct values from correct

working dep on M2

Total 3 marks




Question

Working

Answer

Mark

Notes

16

120 = 20 (= 6) or 40 + 20 (= 2) or
120 x 40 (= 4800) or 120x40xh= 4800/ or
20 x 20 (= 400) or 20 x 20 x 20 (= 8000)

Ml

May be seen on diagram

“8000” x 48 (=384 000) or

48 + (“2” x “6”) (= 4 (number of layers)) or
6 x 2 (=12 (on one layer)) or

4800 + 400 (= 12 (on one layer))

Ml

(48 = 12) x 20 oe eg 4 x 20 or 384 000 + 4800 oe or showing
a fully correct equation in 2 eg (120 x 40 x k) + 8000 = 48 or
120 x 40 x h =384 000

Ml

or for 120 x 40 x 80 = 384 000 if the
correct answer is not selected

Working not required, so correct answer scores full marks
(unless from obvious incorrect working)

80

Al

Total 4 marks \

Watch out for 80 coming from 120 — 40 or from another incorrect method



Question Working Answer Mark Notes
17 (a) 25<m <30 1 B1 Allow 25 <m <30 or 25 —30 oe
(b) [25x8+75%x2+125x6+17.5x4+225x%x12+ 3 M2  For correct products using midpoints
27.5 x 18 (allowing one error) with intention to
(=20 + 15+ 75 +70 + 270 + 495) add.
(M1 for products using frequency and a
[total using lower boundary = 820 (gains M1] consistent value within the range
[total using upper boundary = 1070 (gains M1)] (allowing one error) with intention to add
or correct products using midpoint
without addition)
Working not required, so correct answer scores full 945 Al  Ananswer of 18.9 gains M2 only

marks (unless from obvious incorrect working)

[mean from lower boundary = 16.4 (M1)]
[mean from upper boundary = 21.4 (M1)]

Total 4 marks




Quest Working Answer | Mark Notes
ion
18 o e 8 4 M1
10'-8(=36) or 8 +BC* =10 oe or COSBAC:ﬁ(BAC=36.869...)
J10* ~8*(=6) or tan“36.869...” x 8 (= 6) or sin“36.86...” x 10 (= 6) ML (beware that 148 = 6
has been seen and scores
Z€ero)
_ oM 2 (L MI1ft  Allow use of their value
w=\(5+"6") +14° (=317 e
or
EDC = tan "' 2120 (=38.157) and w:# or we— 4
sin38.157... cos38.157...
or
CED =tan™ 14 (=51.84...) and w=—o0rw= L
"1 cos51.84... sin51.84...
Working not required, so correct answer scores full marks (unless from 17.8 Al awrt 17.8

obvious incorrect working)

1f no other marks scored
then SCBI1 for 22.6(5...)

Total 4 marks

WATCH OUT FOR /10*> +8*(=12.8...)+ 5= 17.8 (which is the same as the answer....but a completely wrong method)




Question Working Answer Mark Notes

19 (a) | (4,2),(4,3),(53),(5,4),(6,4),(6,1),(5,1),(5,2) Correct shape 2 B2  For the correct shape with all 8 points
correct
(B1 for the line y = x drawn or a shape
of the correct orientation and size
anywhere on the grid)

(b) | Enlarged, enlarge etc Enlargement 3 B1  With no mention of any other
transformation or turn, move, flip,
transform, up, right ....etc

3 or x3 or tripled or three or three times (Scale factor) 3 B1 Allow X3 or 3 times bigger or tripled
(do not allow —3)
No need for ‘centre’ (Centre) (7, 2) B1  Just coordinates needed — allow

Do not allow a column vector for coordinates.

without brackets

Total 5 marks




Question | Working Answer Mark Notes
20 (a) |2x+5=6(2x—-5)or2x+5=12x—-30o0r 3 M1  For multiplying both sides by 6 or
2 5 B separating values in fraction correctly in an
gx +g =2x-35 oe (allow 0.33x +0.83 =2x - 5) equation. (decimals 2 dp or better)
2x —12x=-30—-5 or—-10x =-35 or MIft For a method to collect the terms in x on
5+30=12x—2x or 35 = 10x oe or one side and the number terms on the other
5 1 2 5 side.
—+5=2x——xoeor l—x=5— oe . .
6 6 ft from incorrect expansion dep on a
number term and a term in x on both sides.
Working required 3.5 Al dep on M1 oe eg % or 3%
(b) h"? 1 Bl  Allow x'? or another letter to the power 12
but do not allow just 12
(c) | Working not required, so correct answer scores full 16g°K" 2 B2  BI for 2 terms correct in a product
marks (unless from obvious incorrect working) [must be 16 and not 2*]
(d) " " b s b 2 M1  for one correct application of an index rule
€g =Yy ory Xy =y or)yxy =y or (must be seen in powers of )
5+ny this could be after one initial mistake —
Yy o_ 2 working will need to be clearly seen
¥’ or
s 1 ¥ N for a correct equation in 7 (no mistakes
Yy Xy =y ory =y or—=—=y"or allowed)
y5+n — y12+7 or
S5+n—-T7=12o0e
Working not required, so correct answer scores full 14 Al Allow y"

marks (unless from obvious incorrect working)

Total 8 marks




Question | Working Answer | Mark Notes
21 eg (one share of the ratio = )120 + 2 (= 60) 3 M1 For finding the value of one share or
or For a fully correct calculation for amount of butter or
3 stating 180 (g) butter — may be shown in a ratio — does
120 XE(_ 180) or 180 (g)[butter] not need to be labelled if it is clear that the number or
or calculation refers to the amount of butter
180 : 120
or
for writing the 3 parts of the ratio correctly
egl18:15:10(or18:15and 15:100r S: F=18:10) oe
eg3.6:3:2
(3 x“60” +35) x 6 0e M1 For a correct calculation to find the amount of flour
or Avril uses or a correct equation involving flour that if
S 6 rearranged correctly would give the correct answer
"1 80 n 5
or (award the M2 for 216 : 180 : 120 not labelled)
§x120 oe eg @XIS oe or ﬁ><120 oe
10 10 2
Working not required, so correct answer scores full marks 216 Al orflour=216o0reg s=120,b=180,f=216

(unless from obvious incorrect working)

(but flour must be clearly labelled)

Total 3 marks




Working Answer | Mark Notes
e 24 and 8 3 M1 for both mixed numbers expressed as improper fractions
7 3
24 3 72 56 M1 (assumes previous M1) For inverting the 2™ fraction
g 7 % 8 or 21 _E and showing intention to multiply or writing both
fractions correctly over the same common denominator
Shown Al

24372912

—  X—=—=— —

cg
7 8 56 7 7
24 '3 72 16 2

oYy —X—=——= = |—

778 5 56 7

24 3 9 2
r— —l:—zl—
g 7 17

2487256729

773 21 21 56 7

: 9 . 2
or correct working to 5 and writing 17

first line of working)

% (possibly in

. 2 :
dep on M2 for conclusion to 17 from correct working —
: . e 72
either sight of result of multiplication eg — must be

: 9
seen or correct cancelling to 5 or complete method

using division and common denominators

Note: do not award the use of decimals any marks, but
allow this as a check of work in fractions.

Total 3 marks




Question Working Answer | Mark Notes
23 26 800 x 0.08 oe (= 2144) 3 M1 for finding 8% | OR M2 for 26 800 x (1 — 0.08)?
or 26 800 % 0.92 oe (=24 656) or 92% of the | or M2 for 26 800 x 0.92* or
value 19 199...
0.92 x “24 656” (= 22 683.52) M1 for
0.92 x “22 683.52” completing (M1 for 26 800 x 0.922 or
or method 22 683....)
0.08 x (26800 —2144) = 1972.48
0.08 x (24656 — 1972.48) = 1814.6816
22683.52 — 1814.6816 (= 20868.8384)
Working not required, so correct answer 20 869 Al 20868 to 20 869 (inclusive)

scores full marks (unless from obvious
incorrect working)

(SCB1 for 26 800 x 1.08% (= 33760....) or
26 800 x 0.08 x 3 (= 6432) or
26800 — 3 x 2144 (= 20368))

Total 3 marks




Question Working Answer | Mark Notes
24 8x6(=48)or 10 x 7 (=70) 3 M1 M2 for a correct equation in k that if

rearranged correctly should give the

“70” —“48”(=22) oe eg Ml 48+ 2k
correct answer eg =7 or

8x6+22

T=7 0¢ allow for 48+x=7 or
use of mean increased by 1 so
8+7+7(=22)oe

Working not required, so correct answer scores 11 Al

full marks (unless from obvious incorrect
working)

Total 3 marks




Question

Working

Answer

Mark

Notes

25

y=15x-3

B2 oe BI for y = 1.5x + ¢ (where ¢ can be zero)
or
y=mx — 3 (where m is any value but m # 0 or 1.5)
or
1.5x-3
or

Gradient = 1.5 oe eg m =% or a clear calculation for

gradient oe (must be labelled or the meaning shown by
their diagram or working)

Total 2 marks




Q Working An | Mar Notes
k
26 s e 5 B1 for a length of 4 (cm) or 17 (cm) or 25 -7 -8

4 from F to left, vertically below D
17 from D vertically down to left of F
10 from D vertically to left of E

18 vertically up from E to right of C

A 4——(+6)cm——tp F

(=10 (cm)) or 18 (cm) in the correct place on the
diagram or calculated or used correctly in working.

eg25(x+2)(: 25x+50) or %S_S)X

((x+6)—(x+2))(=48) or

8+(25-7
25(x + 6)(= 25x +150) or (JF(T)MJ(: 52) or

8(x+2)(=8x+16) or (x+2);(x+6)><(25—8—7)(=10x+40)0r

T(x+2)(=7x+14)or 10(x+2)(=10x+20) or

T(x +6)(= Tx +42) or (25—7)x (x +2)(=18x +36) or 0.5(25—8 —7)x 4(= 20)

M2 for 2 correct expressions or values for the area
of any 2 parts of the shape that do not overlap
(unless subtracting) (need not be added or
subtracted) (figures to be correct or come from
correct working to award marks)

(M1 for one correct expression)
Be¢—(x+2)cm—p C

A [ f‘*
80m/‘(739-
IR
25 cm 10| I
J2ONE 1em
28 7tm
v O "

4 4———-—-(x+6)cm—e—li—‘zF

eg 25x + 98 =258 or
25(x+2)+4x7+0.5%x4x%x10=258 oe or
25(x+6) =258 +20 + 32 oe

or

eg (258 —98) =25

M1 for an equation that is correct or from correct
working. This need not have expanded terms and
may not equal 258 if other work has been done.

All parts for their method must be included with no
overlaps OR a complete numerical method

Working not required, so correct answer scores full marks (unless from
obvious incorrect working)

6.4

Al oe eg 16%5

Total 5 marks
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